% — B #l#%

A=
i

1A F—AHfHF A & -
J—IE-LyE-EVIDE

& 4 K % OUT | IN |[TOTAL|HDCP| NET
& faAk mEAT 35 [ 39| 74| 6 | 68
@ AR BX 3 (38| 74| 4 | 70
3 f L5 i 38 | 40 | 78 | 7 71
4 =H Ei 38 | 45 | 83 | 12 | 71
5 fir RxE= 40 | 36 | 76 | 4 | 72
B-c | TAERMBX |36 |38 |74

10 $—A6I%F A  k £ =

IN— - K74 FDER

& 4 K % OUT | IN |[TOTAL|HDCP| NET
& AH E= 35 | 37 | 72| 5 | 67
B A &= 42 | 39 | 81 | 11 | 70
3 fi FE F— 37 | 45 [ 82 | 12 | 70
4 fi K & 41 | 42 | 83 | 12 | 71
5 fi i 52 43 | 42 | 85 | 12 | 73
B-G AfE= 35 | 37 | 72

10 $—A6IH%F A H k £ =
J—IE-LyE-EVIDE
<241 A128

& f K % OUT | IN |TOTAL|HDCP| NET
B % KH BF 44 | 54 | 98 | 28 | 70
B RE FHE 46 | 48 | 94 | 23 | T1
3 fif BR i 48 | 47 | 95 | 24 | T1
4 X g2 42 | 45 | 87 | 15 | 72
5 fi ht &g 44 | 44 | 88 | 15 | 73
B-G 2K £ 42 | 45 | 87

1A $—HA6l#% B 5k £ =

IN— - K74 FDER

& 4 K % OUT | IN |TOTAL|HDCP| NET
& A& L= 48 | 45 | 93 | 25 | 68
B B S 46 | 48 | 94 | 25 | 69
3 fi XH % 45 | 50 | 95 | 23 | 72
4 fi HE FH 47 | 47 | 94 | 21 | 73
5 fif AR EKH 51 | 51 | 102| 29 | 73
B-G il Hi 45 | 44 | 89
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